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I = % HLERBREFEKFEREEER
B M GH %) B = Hiu i & & B #

- MEEER BY 1 H 1,955

- 54 /32 1500cciE% 1 H 1,400 1,400
- AV 3.7 L 150 555
- MEEEAN (FLY) BHRSEE 1 H 3,815

- 54 /32 1500cciE% 1 H 2,000 2, 000

- AvIY 12.1 L 150 1,815
- MEEEN EEAMKEER (KR) 1 H 2,705

4 k32 1500cciE 1 H 1,640 1, 640

- AvIY 7.1 L 150 1,065
- BHHA L KK EEE 1 H 1,890
- - 54 kN2 1500cciE% 1 H 1,380 1,380
- AV 3.4 L 150 510
RS LEET RE 1 *E 5494 |iF#E

- 54 /32 1500cciE$ 1 ZFE 1,480 1,480

- AvIY 4.7 L 150 705

- BIRERNE 1 ZFE 3,309 3, 309

U R R




Hifizk ( 2/ 6)

2 X 2 MENKREEERKFIMRESEEEE
I = % HLERBREFEKFEREEER
B M GH 1) B = Hiu i & % B #
KRS LEEF RSREE 1 B 2,945
-~ 4 /N2 1500cciE% 1 =] 1,520 1,520
- AV 9.5 L 150 1,425
- KNEY LEE/R B 1 B 4,385
- 54 /32 1500cciE% 1 =] 1,480 1,480
- AvIY 4.7 L 150 705
- BIRERNE 1 ZFE 2,200 2, 200
- KNS LEHFR BY (EERERHERR) 1 B 2,185  |fERHEMER (R
- - 54 /N2 1500cciE% 1 =] 1,480 1,480
- AV 4.7 L 150 705
- KNHEY LEHR SEElsE 1 *E 2,200  |fERikimER ik
- BB E 1 ZFE 2,200 2,200
- KN#EY LEH BY+RGRE 1 B 6,715
- 54 /32 1500cciE$ 1 =] 2,220 2,220
- AvIY 15.3 L 150 2,295
- BIRERNE 1 ZFE 2,200 2, 200

U R R




Hifizk ( 3/ 6)

2 X 2 I EINCTEFR) i
I = % HLERBREFEKFEREEER
B M GH 1) B = Hiu i Fod B #

- KIS LEEFT EHAKEIRE B 5,415

- 54 /32 1500cciE% =] 1,520 1,520

- AvIY 11. L 150 1,695

- BIRERNE *E 2,200 2,200
F RNHEE L Bkt EEE B 2,135
-~ 4 /N2 1500cciEH =] 1,460 1,460
- AV 4. L 150 675
-BBINA LEERNE B H 4,787
- - 54 /N2 1500cciE% =] 1,420 1,420
- AV 3. L 150 585

- BIRERNE *E 2,182 2,782
-BINFLEELSE BY (EERERHERIR) H 2,005  |fERikimEs i
-~ 54 /N2 1500cciE% =] 1,420 1,420
- AV 3. L 150 585
-BINFLEESE SEERHE *E 2,782 |fEERHkimER IR

- BIRERNE *E 2,182 2,782
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EHffizk ( 4/ 6)

2 X 2 MENKREEEZEKFIERESEEEE
I = % HLERBREFEKFEREEER
B M GH 1) B = Hiu i & % B #
-BNSFLEELSE BY+RGRE 1 H 5,137
- 54 /32 1500cciE% 1 H 1,530 1,530
- AvIY 5.5 L 150 825
- BIRERNE 1 ZFE 2,182 2,782
- BRI EE K B B2 & 1 [ 5, 087
-~ 4 /N2 1500cciEH 1 H 1,510 1,510
- AV 5.3 L 150 795
- BIRERNE 1 ZEE 2,182 2,782
- HitE Y LEEFT RE 1 *E 4,414 &
- 54 /32 1500cciEH 1 ZFE 1,640 1, 640
- AvIY 7.1 L 150 1,065
- BIRERNE 1 #EE 1,709 1,709
- HEY LEE BSRE 1 H 3,095
-~ 54 ~/N21500cciE% 1 H 1,520 1,520
- AV 10.5 L 150 1,575

U R R




Hifizk ( 5/ 6)

2 X 2 P EIN-TEFS )G HEXE
I = % HLERBREFEKFEREEER
B M GH 1) B = Hiu i % B #

- INEFEERER K B B F 1 B 2,535
-~ 4 /N2 1500cciE% 1 H 1,590 1,590
- AV 6.3 L 150 945
- HEES L Bkt EREE (4B, 10~3A) 1 H 1,890
- - 54 /N2 1500cciEH 1 H 1,380 1,380
- AV 3.4 L 150 510
MRS L BrKtKERE (5, 6 A) 1 H 2, 005
-~ 54 kN2 1500cciE% 1 H 1,420 1,420
- AVYY 3.9 L 150 585
MRS L BrKtKERE (7~9H) 1 H 2,070
- - 54 kN2 1500cciE% 1 H 1,440 1,440
- AV 4.2 L 150 630
- MEEEAR OKBUD) BH+IRBRE 1 H 3,020

- 54 /32 1500cciE$ 1 H 1,520 1,520

- AvIY 10.0 L 150 1,500

U R R




Hffizk ( 6/ 6)
2 X 2 MENKREEEZEKFIERESEEEE
I = % HLERBREFEKFEREEER
B M GH %) B = Hiu i Fod B #

R RERER KB B E 1 H 2, 355
-~ 4 /N2 1500cciE% 1 H 1,530 1,530
- AV 5.5 L 150 825
* RNFRB KK EIREE 1 H 2,705
- - 54 /N2 1500cciEH 1 H 1,520 1,520
- AV 1.9 L 150 1,185
- EEENE REZEE 1 B 4,385 | KJI#E

- 54 /32 1500cciE$ 1 H 1,480 1,480

- AvIY 4.7 L 150 705

- BIRERNE 1 ZFE 2,200 2,200

U R R




